
Converting Celsius to Fahrenheit (A)

$93^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$63^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$22^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$43^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$44^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$37^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$50^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$34^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$62^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$22^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$19^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$95^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$86^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$40^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$97^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$23^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$54^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$88^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$98^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$91^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$4^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$47^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$53^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$45^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$54^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$72^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$36^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$85^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$78^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$62^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$27^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$98^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$70^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$